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& BT =G Total
N=10 N=73 N=83
1.E2KRE (BE) 1 LTwnd 2 (20.0%) 38 (52.8%) 40 (48.8%)
2 LTuhian 8 (80.0%) 34 (47.2%) 42 (51.2%)
2EHERE 1 LTund 2 (20.0%) 15 (21.1%) 17 (21.0%)
2 LTuhian 8 (80.0%) 56 (78.9%) 64 (79.0%)
3.7 BhEERE 1 LTwnd 9 (90.0%) 48 (65.8%) 57 (68.7%)
2 LTuhian 1 (10.0%) 25 (34.2%) 26 (31.3%)
A % RE2 1 LTwnd 2 (22.2%) 5(7.1%) 7 (8.9%)
2 LTuhian 7 (77.8%) 65 (92.9%) 72 (91.1%)
bATERED 1 LTW3 5 (50.0%) 31 (43.1%) 36 (43.9%)
2 LTuhian 5 (50.0%) 41 (56.9%) 46 (56.1%)
6.2 - BaE2 1 LTW3 4 (40.0%) 25 (35.2%) 29 (35.8%)
2 LTuhian 6 (60.0%) 46 (64.8%) 52 (64.2%)
7.2 1 LTW3 6 (60.0%) 20 (28.2%) 26 (32.1%)
2 LTWAW 4 (40.0%) 51 (71.8%) 55 (67.9%)
SIEEEEEY 1 LTW3 3 (30.0%) 14 (20.0%) 17 (21.3%)
2 LTuhian 7 (70.0%) 56 (80.0%) 63 (78.7%)
ItkHEBLY X —~DHEE 1 LTW3 0 (0%) 19 (27.1%) 19 (23.8%)
2 LTuhian 10 (100%) 51 (72.9%) 61 (76.2%)
10 EELEE 1 LTW3 5 (50.0%) 43 (59.7%) 48 (58.5%)
2 LTWAW 5 (50.0%) 29 (40.3%) 34 (41.5%)
ININERTEEES~DHE 1 LTw3 7 (70.0%) 17 (23.6%) 24 (29.3%)
2 LTuhian 3 (30.0%) 55 (76.4%) 58 (70.7%)
12.FBEERZDIER 1 LTw3 10 (100%) 51 (71.8%) 61 (75.3%)
2 LTuhian 0 (0%) 20 (28.2%) 20 (24.7%)
IRRIZ N ESES 1 LTw3 5 (50.0%) 6 (8.6%) 11 (13.8%)
2 LTuhian 5 (50.0%) 64 (91.4%) 69 (86.2%)
1A EBEDORREE 1 LTwW3 2 (20.0%) 16 (22.5%) 18 (22.2%)
2 LTWAN 8 (80.0%) 55 (77.5%) 63 (77.8%)
155D FE - BE 1 ¥F - B&EHY 1 (25.0%) 19 (30.2%) 20 (29.9%)
2 REE - LAn 1 (25.0%) 13 (20.6%) 14 (20.9%)
3 b BN 2 (50.0%) 26 (41.3%) 28 (41.8%)
A Z D 0(0%) 5(7.9%) 5 (7.4%)
16.Ffe P2 ERIE#EO T E 1 FEHL 5 (100%) 46 (70.8%) 51 (72.9%)
2 BT E 0 (0%) 3 (4.6%) 3 (4.3%)
3 —EZERORAETE 0 (0%) 1(1.5%) 1(1.4%)
4 HH 575 0(0%) 15 (23.1%) 15 (21.4%)
17. B EE i 69 (66-73) 66 (60-72) 66 (60-73)
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